RZR Rear Winch Mount Bumper
Fits: 2008-2011 RZR
2008-2011 RZR-4
2011 RZR-S

P/N: EMP-11126

Includes:

(1) Rear Bumper

(1) Triangle Shaped Bracket
(1) Mounting Bracket

(2) 1/4-20 x 2” min. Flange Head Bolt (black)
(2) 1/4-20 Nylon Nut

(4) 1/4” Flat Washers

(8) 3/8-1” Black Carriage Bolt
(4) 3/8 x 1 Flange Head Bolt
(12) 3/8” Flat Washers

(12) 3/8” Nylon Nuts

(1) Logo Sticker

o i il e

0.
1.

NOTE: WE HAVE AN INSTALLATION VIDEO ON OUR
WEBSITE. PLEASE, WATCH IF YOU HAVE THE INTER-
NET. Here is the link :
http://www.youtube.com/watch?v=hXbWGHA|-14

Installation:

1. Remove the rear tail light assembly by removing (6) torx head
bolts and (2) Phillips screws one on each end.

Remove the rear sub-frame and save the bolts. You will use the
bolts.

Attach the rear bracket with the stock sub-frame bolts. Attach
the triangle shaped part to the rear frame with the (4) 3/8 Flange
bolts, washer, and nuts. Do not tighten yet.

Re-Install your plastic tail light assembly. See video for help.
Mount your bumper to the bumper to the brackets using the
Black 3/8 carriage bolts, washers and nuts. Now, you can tight-
en all the bolts using a 9/16” Wrench or Socket. You will use
(2) bolts on the underside, (4) on the back side, and (2) on top if
you are not mounting a winch at this time. If you are installing
a winch, your winch bolts will go on the top side.

The last thing you have to do is attach the side support angles.
You will have a left and right angle bracket. Bolt the rear of the
angles to each end of the bumper using the remaining carriage
bolts.

You will have to mark your frame to drill a 1/4” holes for the
support brackets . Once, you have marked your frame remove
the support brackets and drill your holes. One per side.
Re-Install your side support angles using the 1/4-20 x 1-/2”
long bolts, nuts and washers on the inner ends.

2.

3.

Warning/Caution: The bumper is rated for up to a 3500 Ib winch.

death could result if a larger winch is used.

Serious injury or



